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NEB-XII 

2079(2023) 

Model Question 

Population Studies  
 

k/LIffyL{n]  ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg' kg]{5 . lsgf/fdf lbOPsf cª\sn] k"0f{fª\snfO{ hgfpF5 .  

The candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks. 
 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 
 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt All Questions) 
 

;d"x …sÚ(Group ‘A’) 
 

-clt ;ª\lIfKt pQ/fTds k|Zgx?÷Very Short Answer Questions)  ११x१=११  

!= l;=kL= ANofs/sf cg';f/ hg;ªVof ;+qmd0fsf] l;4fGtsf r/0fx? sltj6f 5g < 
(How many stagesare there in demographic transition theoryaccording to C.P. Blacker?) 

@= lj=;+= @)&* ;fnsf] hgu0fgfsf] glthfcg';f/ g]kfnsf] hg;ª\Vof j[l4b/ lj=;+= @)^* ;fnsf] eGbf sd jf 

a9L s]] 5 < 
(Is the population growth rate of Nepal according to result of census 2078 B.S. lesser or 

greaterthan 2068 B.S.?)  

#= sf]/f hGdb/sf] z'q n]Vg'xf];\ .  
(Write the formula of crude birth rate.) 

$= ?U0ftf eg]sf] s] xf] < Ps jfSodf n]Vg'xf];\ . 
(What is morbidity? Write in one sentence.) 

%= olb s'g} ;x/ dflj=;+= @)&* ;fndf $) hgfa;fOF ;/]/ cfP / Tof] ;x/sf] s'n hg;+Vof @)))) lyof] eg] 

pSt ;x/sf] cfk|jf;g b/ sltxf]nf< 
(If 40 people immigrated to a city in 2078 B.S. and the total population of that city was 20000, 

what would be the immigration rateof that city?) 

^= dlxgfjf/Lsf] ;dodf dlxnfx?n] ckgfpg] ;/;kmfOsf s'g} b'O{j6f pkfox? n]Vg'xf];\ .  
(Write any two measures of hygiene adopted by women during menstruation.) 

&= g]kfnL ;dfhdf b]vfk/]sf of}lgstf;DaGwL s'g} b'O{ unt wf/0ffx? n]Vg'xf];\ .  
(Write any two misconceptions about sexuality that has emerged in Nepali society.) 

*= ;x;DaGw u0fgf ug{] z'q n]Vg'xf];\ .  
(Write the formula to calculate correlation.) 

(= /]vflrqsf] s'g} b'O{ k|sf/x? n]Vg'xf];\ .  
(Write any two types of line graph.) 

!)= cg';Gwfg k|lqmofsf] klxnf] r/0fdf s] s:tf lqmofsnfkx? ckgfOG5 < 
(What activities are followedin the first stageduring research process? ) 

!!= k|fylds tyf låtLo tYofª\lar Ps leGgtf pNn]v ug'{xf];\ . 
(State one difference between primary and secondary data.) 

;d"x …vÚ (Group ‘B’) 

-;ª\lIfKt pQ/fTds k|Zgx?÷Short Answer Questions)    *x%=$) 

!@= dfNy;sf] hg;+Vof l;4fGtsf] s'g} kfFrj6f cfnf]rgfx? n]Vg'xf];\ .  
(Write any five criticisms of Malthusian theory of population.) 

!#= ;fs{ /fi6«x?sf] jt{dfg hg;+Vofsf] cfsf/ / j[l4b/sf] 5f]6s/Ldf JofVof ug{'xf];\ .  
(Describe briefly the current population size and growth rate of SAARC countries.) 

 

cyjf 
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 cltljsl;t / sdljsl;t /fi6«x?sf] hg;+Vofcfsf/ / j[l4b/sf] 5f]6s/Ldf JofVof ug{'xf];\ . 

(Describe briefly the current population size and growth rate of more developed and less 

developed countries.) 
 

!$=tkfOn] s'g} Pp6f hg;ª\Vof;Fu ;DalGwt ul0ftLo ;d:of kl/sNkgf u/L ;f] ;d:ofaf6 sf]/f hGdb/ kQf 

nufpg'xf];\ .  
 (Imagine a population related mathematical problem and calculate crude birth rate from that 

problem.) 

cyjf 

tkfOn] s'g} Pp6f hg;ª\Vof;Fu ;DalGwt ul0ftLo ;d:of kl/sNkgf u/L ;f] ;d:ofaf6 ;fwf/0f k|hgg b/ 

kQf nufpg'xf];\ . 

(Imagine a population related mathematical problem and calculate general fertility rate from that 

problem.) 

!%= dfgf}+ lj=;+= @)&* ;fndf jg]kf gu/kflnsfdf #%)) lzz'x?sf] hGdePsf] lyof] / ;f]xL jif{leq 

ltgLx?dWo] Ps jif{sf] pd]/ k'/f gxF'b} @@$ lzz'x?sf] d[To' ePsf] lyof] eg] pSt jif{sf] jg]kf gu/kflnsfsf] 

lzz' d[To'b/ u0fgf ug{'xf];\ .  
(Suppose, 3500 babies were born in Banepa Municipality in the year 2078 B.S. and 224 of them 

died before the age of one year, then calculate the infant mortality rate of Banepa Municipality of 

that year.) 

!^= hg;+Vof / ljsf;sf /fli6«o d'2fx?sf] ;"rL agfO{ s'g} Pssf] j0f{g ug{'xf];\ .  
(List out the national issues of population and development and describe any one.) 

!&= lbuf] ljsf;sf nflu ;lqmo hgzlStn] v]Ng ;Sg] s'g} kfFrj6f e"ldsfx? n]Vg'xf];\ .  
(Write any five roles active manpower can play for sustainable development.)  

!*= tnsf] tYof+saf6 dlWosf u0fgf ug{'xf];\ .  
(Calculate the median from the following data.) 

k|fKtfª\s(Marks 

Obtained) 

10-20 20-30 30-40 40-50 50-60 60-70 70-80 

ljBfyL{ ;+Vof(No. of 

Students) 

10 12 14 20 15 5 4 

!(= JolStut ;/;kmfO;Fu ;DalGwt ljifodf cWoog cg';Gwfg ubf{ tYofª\s ;ª\sngsf nflu cfjZos kg{] 

s'g} kfFrj6f k|Zgx? tof/ kfg{'xf];\ . 
(Prepare any five questions needed to collect the data related to personal hygiene in research 

study.) 

;d"x …uÚ (Group ‘C’) 

-lj:t[t pQ/fTds k|Zgx?÷Long Answer Questions)     #x*=@$ 

@)=cfGtl/s a;fOF;/fOsf dfksx?nfO{ ;'q;lxt JofVof ug{'xf];\ .  
(Explain measures of internal migration with formula.) 

@!= ;fdflhs ;~hfnn] JolStsf] ;fdflhs hLjgz}nLdf Nofpg]] cj;/ / r'gf}tLx?sf ;DaGwdf cfkm\gf] 

/fo÷dt JoSt ug{'xf];\ .  
(Express your opinion about the opportunity and challenges of social media in individual’s social 

lifestyle.) 

cyjf 

g]kfndf n}ª\lustfdf cfwfl/t dlxnf lx+;fsf] cj:yf / o; lj?4 ePsf k|of;x?af/] cfkm\gf] /fo JoSt ug{'xf];\ . 

(Express your opinion about the situation of gender based women violence and efforts against it 

in Nepal.) 

@@=g]kfndf xfnsf] lszf]/–lszf]/Ld}qL k|hgg :jf:Yo ;]jfnfO{ cem k|efjsf/L agfpg tkfO{n] ckgfpg ;Sg] 

lqmofsnfkx? pNn]v ug{'xf];\ . 
(State the activities that you adopt to make the current adolescent-friendly health service more 

effective in Nepal. 

-0- 


